MPM1DO0 Unit 3: Homework Quiz 2 meA J )/ Victim: Z@ QMJ%M

1. Alison and Lucy belong to different fitness clubs. Allson has a membershlp that cost her $300 and
she pays $2 each time she visits the club. Lucy has a pay-as-you-go membership and she pays $8

each time she visits her club.

(a) Let n represent the number of visits to the fitness
club, let C, represent Alison’s cost and let C,

represent L.ucy’s cost. Complete the following
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(b) On the same grid, graph the relations between
C, andnand C_ and n. Don’t forget to label

the axes! ( 7 I7)
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(c) Write equations relating C, tonand C_ ton. (d) For each of the relations identify the
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